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(3) IS, TR SMOT RIS fAT=

Jrfas
TR

7RIS fasm=
IR

q) 3rvyfasm=

foRge IfhINATST 3TIfUges SUHSHE aTiRel STIUIR JAUSH e Wieiiclich! v TR T 3TTg 2
9) NRTH-333 R) FEH-233 3) BeIH-343 8) eI H-23%
Which of the following options is INCORRECT as a nuclear fuel used in a nuclear reactor for the

fission process ?
1) Thorium-232 2) Uranium-233 3) Candmium-253 4) Plutonium-239

uert e e Wielich! PIUAT Tehmed §UT 3R M | 3MUgh HaRT IR
3MfUger ARG! HfcTshdT 3R ?

q) ¥ IR JFE Q) THIST MO SRR 3) ST 8) PferT TR

Which of the following components of a nuclear power generation station contains the fuel and
has a nuclear chain reaction with all of the nuclear waste products ?

1) Steam generation unit 2) Turbine and generator

3) Nuclear reactor 4) Cooling tower

WciieTieh! DIV <] JMEia calecst Ui AT wmeficr Afthg orhl FfSE weft amg ?

9) S I9 Q) SReX &9 3) SICTq ¥) fea s

In case of which of the following buses are the voltage magnitude and the active power at the bus
specified ?

1) Load bus 2) Generator bus 3) PQ bus 4) Swing bus

RATeiIeAUeT PO GHATANT AT Hiel ST ATal ?

9) TA-YBR 30T fFAIT-TpR ATeH ?) Jfud PROR |1eH
3) 3cs TRgHe ) fefiteat feear Hicex
Which of the following is NOT considered as an analogue instrument ?
1) Null-type and deflection-type instruments ~ 2) Indicating instrument
3) Inegrating instrument 4) Digital display meter

gTefieTdehl DIV T DVMs it AT 78U bl 37Tg 2

9) 99 379c Aoft R) I uRYul Ireehar

3) SIS HEY BRIT 9 HAT %) JBIAB! DleTSeF AT

Which of the following options is INCORRECT as property of DVMs ?

1) High input range 2) High absolute accuracy

3) Resolution 1 part in million 4) Requirement for calibration from time to time

TE § 9 7T & TAURISRITS! SUgwh UAHIE : AT A= / 4B
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) WNAMRA
TS WMBATE UBIERID BT 36 BNS ?

q) S THPST Hisdl Ad TH

Q) A RIS <geRdn HIUd TR S

3) I T IR oo

) FATURT G A URSed] SHIETETe] BHeuHl AT BT S
Why did the astronomy of Galileo become dangerous ?

1) He could not prepare star charts

2) His observations were responsible for disappearance of man from the moon
3) He offered a natural interpretation

4) He challenged the axioms about the world which the powerful took for granted

WBIGUD! PO AU SRR 3T ?

) BT N GAIRET SR ST SR SRITHT Fafel H! ST GATIRIT bl et SIcR SRITT
REIRAS IS RCEIN

R) T S PIURET SR SR 3R SR Felie] ST AT JATIRLT b1 AT SR SR
At T ST,

3) T 9T IR SR ST & I HT - 3TR ST ARG 3R

) TR 9 GIURLT SR STR g I BHT AR STAATT Al STR 3R,

Which of the following statement is correct ?

1) The speed of Planet is faster when they are nearer to the sun and slower when they are
farther away from the sun.

2) The speed of Planet is faster when they are farther from the sun and slower when they are
nearer to the sun,

3) The speed of Planet is same when they are nearer to the sun or farther away from the sun.

4) The speed of Planet is faster when they are nearer to the sun or farther away from the sun.

3) 3R fdsm= | Shidivd, Sy
TSI -3 o TR GRA fepell &Il ?

q9) Q¢oo fHT. ) 3900 &I 3) 3%00 k7. ¥) 990 f&H.I.
What was the total mass of Chandrayaan-3 77
1) 2800 Kg 2) 3100 Kg 3) 3900 Kg 4) 4110Kg

S gR ety Qo= HifRcliEt ST ... 38

9) 900 T 0.9 Ht Q) 900 T 0.09 #Ht

3) 9000 d 0 0.9 Ht ¥) 90009 T 00.09 Ay,
GPS position information has the accuracy in between...........

1) 100 to 0.1m 2) 100 to 0.01m

3) 1000 to 0.1 m 4) 10001 to 0.01 mm
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THIMATET HHATT TS BRATREUTET el 3MBR WleAietidh! PHIurdT MR ?

q) 3 X 3 I R) R X R I 3) 4’ X 4R [W  ¥) WY X 3.4 IA!
Which of the following is the ideal size for aerial photography in a cartographic camera ?
1)23 X 23 cm 2) 22 X 22cm 3) 59 X 59¢cm 4) 28.5 X 23.5cm

[T g 9eg YT YSHRTGR WRIafid /IS diereaqul seiaqgmifce e anys g dfere
SNBEUIRATS! 3AfUeh FAHIIU IRl ST,

9) IRNGPRACTT ) WRIEH 3) R afam ¥) IO

Currently the term is used more commonly to denote identification of earth features by detecting
the characteristic electromagnetic radiation reflected/emitted by earth surface.

1) Bioinformatics 2) Reflection 3) Remote sensing 4) Emission

fefTeet BRAcHE Relcelt Ivs AT SeigR Hifds waferonfas:f e mfed fMresauardt wer
3nfor dsmfae wfehar @Wrefleddh! Piordt armg ?

q) Rere af_dm ?) Aderort T

3) 3ffcmcs el PR RieeH ¥) Blemmfed d@

Which of the following involve art and scientific processes of obtaining reliable information
about physical environment by remotely sensed analog data in digital format ?

1) Remote sensing 2) Surveying principles
3) Automated data capture system 4) Photogrammetric principles
Rfercran deafd CBRN =1 3712 31 318 ?

q) VD SRS AU D

R) B *s ¥ s

3) Biidd, RIS, S3NaASThe 3T FfFeRR
g) TR TN SR i

What does CBRN stand for in the context of safety?
1) Computer Based Resource Network

2) Chemical Based Risk Network

3) Chemical, Biological, Radiological and Nuclear
4) Critical Basic Risk Number

ADAS T 77 3fe¥ AT 9ehife BIUIR I Uich BHHT Ul g 3MME. ATHL T AT STIfOr FRIETA
JUTtTaT FHIGE 37 S RATRIA HARATGRIT AT Aad axaid. ADAS T Jof w0 BT 3118 ?

9) T 9 TERT HUTTett Q) IS 1 JUETT T

3) TN FAER R Uulled! ) 3ffcl I AERY Hoe!

The main goal of ADAS is to reduce road risks that are caused by human factors. It includes
advanced technologies and safety systems that assist drivers during road journeys. What is the
full form of ADAS?

1) Advanced Drone Assistance System 2) Anti Drag Accident System

3) Advanced Driver Assistance Systems  4) Auto Drone Assistance System

e § 9 7T & GEURIERTTO! SuYwh FeIE : = st / ug
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Tttt PIvr e deg 3 ?

q) AHFT 9 U, IBR SCreAl ARG FRISUTEIRIM, Siegl |dedn FRigbre fedm gedrd
degT TfcmT 31 Fgoul T dhed] ST,

R) AR FRMTIRR, 8T8 BRI AFRDIUD MRS, Stegl ATaed FRISPTIRTT o ST
degT TfcmT 1M Fgou T dhed] ST,

3) Tp A R FRU, HedRudeet 333 o1 FRIGIUIGRI, Siegl Arded] FRISTpTIRId SR ST deal
T 31ftres AESTau FIE hedl ST,

8) AMFT PR, g8 BRIRARIT ARRDIe FRIGUIEIH, Siegl Adedt PRl e
TSI cIegl UfHT 3Tfeieh AESTaul FIE hedl ST,

Which of the following statements is TRUE ?

1) As a general rule, during monoscopic observation of radar data, images are more easily
interpreted when shadows fall towards the observer.

2) As a general rule, during monoscopic observation of aerial photographs, images are more
easily interpreted when shadows fall aways from the observer.

3) As a general rule, during the observation of multispectral FCC, images are more easily
interpreted when shadows fall away from the observer.

4) As a general rule, during monoscopic observation of aerial photographs, images are more
easily interpreted when shadows fall towards the observer.

........... q& QI T | SRIAT, HTST dholed] §als BRI fchal Suig Ui Tiig, fieededT
STt SfreaTd fahdm Sici FaEtensur, SATfT ftheh feba ereq auie ST 4d A€ <. el gaeiR e,
1 3f3reare fhar R wfemT eexguara afersa.

q) ST SEROICYT P ) HICH™ 3) SfeaRelt & 8) ReRaf-<iel
A consists of two basics part : A collection of annotated aerial photographs or satellite

image, illustrative of the features or conditions to be identified, and a graphic or word description
that sets forth in some systematic manner, the image recognition characteristic of those features
or conditions.

1) Image interpretation key 2) Photogram

3) Overlapping area 4) Stereo-pair

Elefierd! o g TRUE SHE amaR f1for S| USGS affensur Hulletiear Siqid e 311e 2

q) Relcel! TS STT aTIRe] TIRIDRUT SThcrd! [ UIaed! A 4% SR,

?) Relcel A= a1 aueT TElaRyT STeehard! T UTde! T Q4% AT

3) SHITePROT YUTTel! ST &3fIeR SR 3TATell.

¥) 9T 3RS dIegl SIBFIET tch Uehd dTaR 3NosRded] STl

Which of the following statement is TRUE with respect to USGS land use and land cover

classification system ?

1) The minimum level of interpretation accuracy using remotely sensed data should be at least
85%.

2) The minimum level of interpretation accuracy using remotely sensed data should be at least
95%.

3) The classification system should be applicable over small areas.

4) Only single use of land should be recognized when possible.

TE § 9 7T & TAURISRITS! SUgwh TAHUE : AT fas / 4o
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SUIE UfcHiaRe TIR dheledl N Teprermed, Ted Yot Sioft ... URIT 3R 2Tl

q) Pral fhamHIcR o dps! fhalmicR st R) el Hiex T Apel Hiex et

3) 900 fHaAMIcR T TIRI fhaicR afist g) Prar Hick O SgT fhalmicR arat

In a lineament map prepared from satellite imagery, the Major lineaments can range from.......
1) A few kilometers to hundreds of kilometers in length

2) A few meters to hundreds of meters in length

3) 100 kilometers to thousands of kilometers in length

4) A few meters to Ten Kilometers in length

IRS-ID LISS-III S=6RedT quishe i dedt aRarerial 3ed :

9) 0.42-0.4R HIUHPM ) 0.80-0.40 HRPM 3) 0.42-0.4R HRHM ¥) 0.43-0.4R HIUDIA
0.§3-0.§¢ HIIh 0.49-0.§0 HIHA 0.§3-0.§¢ HIIhF  0.§-0.§¢ HIIPH
0.99—0.¢& HIThA 0.€9-0.90 HRIHHA 0.90-0.¢0 HRIHH 0.99—0.¢& HIIhA
9.44-9.90 HIhIA 0.99-9.90 HIIhIA 9.90-9.¢0 HRPIM  9.¢0—R.80 HRIhI

The wavelength of the spectral bands of IRS-ID LISS-III sensor are :

1) 0.52-0.59 microns 2) 0.40-0.50 microns 3) 0.52-0.59 microns 4) 0.52-0.59 microns
0.62-0.68 microns 0.51-0.60 microns 0.62-0.68 microns 0.62-0.68 microns

0.77-0.86 microns 0.61-0.70 microns 0.70-0.80 microns 0.77-0.86 microns
1.55-1.70 microns 0.71-1.10 microns 1.10-1.80 microns 1.80-2.40 microns

GRS rered gEIpIH, Hifeahig aRATTHD gEleIA ATfT fSferermifes geiep a1 GIS ardRe
fISTANUT FRETRATST aTIReT SATUM=AT Ygalt 3T,

9) PG Q) &I d16 3) Whiec HIUT @) Fgh HIGT
Heuristic qualitative approach, statistical quantitative approach and deleterministic approach are
the methodologies used to analyze.......... using GIS.

1) Landslides 2) Urban growth 3) Fault mapping 4) Joint mapping

uRuRe FCC 95 Wiefleideh! PIurd faer sRIsR 31g ?

9) Wiear AT AMSIHEN, 39 Sde—37aRth WRIaddd] lel o8 s feaard, S9 ofiet WRiadH
I ey foRa foard onfor S faRd WRiacH IRielel o1&y ot fCRAdT, 319 UhR IMYSATAT
AT WIS ATEIHRT Al

Q) Wil AT FHMED, F9 STdo—3axth URIA Iielall d1ed diel foadTd, S9 ol WRidciahdl
Tl ey dle dter fosadTa, oo S fexdt wRiaderar sRTelel @1ed fiom fasaaTd, 31em YR
YTl (ﬂ&eali'd dlc WUTW

3) WicaT AT ARSI, I9 STa5—37aRh IRIaDhdl 3RTelel] e olel fexqdrd, 39 oflel URTachdl
ITetelt e fovelt fexqard amfor S fexdt WRiadiardT 3RTelel ey s faaTd, 319 TR JMueTe
LI WIS ATEIBRT Al

) Gl AT FHHHE, F9 Sae—3avch URIdddhdl 3Riciel! o1&l diet fCadId, S ol WRIaciehdT
Il e ol aret fosraTd onfor S=r fexdl wRradiardT sRfelelt e favel) fosaara, arem R
3MTeETeA & ST WIC ARl fiesd. .

TE § 9 7 & TAURISRITS! SUGwh TAHUE : A fasi / ¢



14)

94)

15)

9g,)

16)

Q)

17)

9¢)

For Private Circulation Only

Which of the following statement is CORRECT about a conventional FCC ?

1) In a false colour composite, targets with high near-infraed reflectance appear blue, those with
a high red reflectance appear green, and those with a high green reflectance appear red, thus
giving us a "false" presentaiton of the targets.

2) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance also appear red, and those with a high green reflectance appear blue,
thus giving us a "false" presentation of the targets.

3) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance appear green, and those with a high green reflectance appear blue, thus
giving us a "false" presentation of the targets.

4) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance also appear red, and those with a high green reflectance appear green,
thus giving us a "false" presentation of the t argets.

GIS, A&, feersied =IM, arcsnap ARSI ...

9) an =1 AGC ARKICAN SFetedT A1 &R FU PRUIRT AT ol

R) PN Aae IFREAcaTT 3fetedT Sl 19 PRUIRT ST <al
3) an are T Jdc TISAT 3MMad ok TT PRUATIT TR ¥

¥) an 91 HEIfeg SR SRcied] HHMER FT HRUIRT ST <.

In GIS, during digitization, arcsnap tolerance -............

1) Allows the end of an are to be snapped to an existing arc

2) Dis-allows the end of an arc to be snapped to an existing are

3) Allows the end of an are to be snapped to the adjacent are

4) Allows the mid-point of an are to be snapped to an existing arc.

GIS, T, ool gl T AT R i i qu PRUIATSH aToRe! ST Sit gRacHid
SGeTd AR ST - JUNGHIRET ¥adsl 3T,

q) fA3TepIfST R) erresH 3) s g) faersar

InGIS, ..o 1s the term used to describe the geometric characteristics of objects which do
not change under transformations and are independent of an co-ordinate system.

1) Geocoding 2) Topology 3) Grid 4) Attribute

siffeeeer ot NIR € arRod NDVI SIeuaiTe! @ietierid! DIvRt 9gd I 31Tg ?

9) NDVI=(fgRar - arer) (feRar + ofrel) ?) NDVI=(NIR - GREEN) (NIR + GREEN)

3) NDV=(NIR + RED) (NIR - RED) 8) NDVI=(NIR - RED) (NIR + RED)

Which of the following is the correct method to derive NDVI using the optical and NIR bands ?
1) NDVI=(GREEN - RED) (GREEN + RED) 2) NDVI=(NIR - GREEN) (NIR + GREEN)

3) NDVI=(NIR + RED) (NIR - RED) 4) NDVI=(NIR - RED) (NIR + RED)

dledc 9 T MSS T axiTelidl 9% 3Ted:
9) 0.4-0.¢ HRIHM Q) 0.8-0.4 HIIHH 3) 0.9-0.4 AP  ¥) 0.4-0.§ HRIDHA

0.€-0.9 HRIhIA 0.€£-0.9 HARIhIA 0.4-0.5 HRIhIA 0.€£-0.9 HARIhIA
0.9—0.¢ HIhIA 0.9—0.¢ HIIhIA 0.£-0.9 HARIhIA 0.9—0.¢ HIhIA
0.¢0-9.9 HIhIA 0.£0-0.¢¢ HIIhA 0.9—0.¢ HIhIA 9.44 — 9.09 ,HRIH

e § 9 7T & TEURIERTTO! SuYeh FeIE : A s / 4]
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The wavelength bands of MSS of Landsat 1 are :
1) 0.5-0.6 microns 2) 0.4-0.5 microns 3) 0.4-0.5 microns 4) 0.5-0.6 microns

0.6-0.7 microns 0.6-0.7 microns 0.5-0.6 microns 0.6-0.7 microns
0.6-0.7 microns 0.7-0.8 microns 0.7-0.8 microns 0.7-0.8 microns
0.80-1.1 microns 0.80-0.88 microns 0.7-0.8 microns 1.55 - 1.77 ,microns

WlefleTidh! Do HHR AT-T18 IRS Suwgan fesimfcs Reflegemslt amg Jedrd ?
WiF

9) LISS-I © foe ) LISS-1 ¢ fie 3) LISS-I ¢ foe ¢) LISS-I v fde
LISS-I © fSe LISS-1I ¢ fie LISS-1I ¢ fe LISS-1I ¢ fe
LISS-1II v fie LISS-II ¢ fee LISS-1II ¢ fie LISS-1II ¢ fae
PAN ¢ foe U ¢ fie PAN u fie PAN ¢ foe

Which of the following is a correct match of the radiometric resolution of cameras on-board IRS
satellites ?

1) LISS-17 bit 2) LISS-I8bit 3) LISS-18bit 4) LISS-I7bit
LISS-II 7 bit LISS-II 8 bit LISS-II 8 bit LISS-II 8 bit
LISS-II1 7 bit LISS-IIT 8 bit LISS-IIT 8 bit LISS-IIT 8 bit
PAN 6 bit PAN 6 bit PAN 7 bit PAN 6 bit

SuErRAdl IRS A T 1D Hifefddlel F=ae 3aabieiid Rellegerel a1 Seull Sicsdr.

9) LISS-T 0.4 =t Q) U Q¢ Ht 3) UF Y. =t ) Pan 94.¢ |t
LISS-II 3&.3y = LISS-T v2.y Hi LISS-T ©2.4 Ht LISS- ©.4 =
WiFS qc¢c¢ Ht LISS-II 3&.2y =t LISS-II 3¢.y ! LISS-II 3¢.y !

WiFS 9¢.93 = WiFS 9¢.93 #t WiFS ac¢¢ #t

Identify the correct match of spatial resolution of sensor of IRS 1A to 1D series of satellites.

1) LISS-172.5m 2) Pan 2.8m 3) Pan5.8m 4) Pan 15.8m
LISS-1136.25m LISS-172.5m LISS-172.5m LISS-172.5m
WiES 188m LISS-1136.25m LISS-1136.25m LISS-I136.25m

WiES 18.13m WiES 18.13m WiES 188m
¥) AIfed g HUNUT TS/ STRRdTet

fafsar ofa TR ‘fiiee Sfear SR’ 3R ATHERUT dhegl HRUATT 3TTet ?

q) FLR 20909 Q) AR 209g 3) 3ffaeR 20909 g) AlegeR 20909

When was Media Lab Asia renamed as Digital India Corporation?
1) September 2017  2) September 2016 3) October 2017 4) November 2017

QRTET BIITT DIVRIT DI geldglh AEEd Tald TRUIT RIS 3A1E ?

9) Pt RO Q) P ¢ 3) P R0 A Q) PeH ¢¢ A
Which section of the Evidence Act provides for drawing the presumption as to electronic messages?
1) Section 90 2) Section 88 3) Section 90 A 4) Section 88 A

TE § 9 7 & TAURISRITS! SUgwh TAHUE : A fasi / €0
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QRTET HRISTAT P R0 37 TAR Seldgl b bis IR pedilee Teid URel STids 2] SR GiudsT 31iel R,
q) 90 a¥ S R) 4 ¥ 3) 30 @ S 8) 92 a¥ S
Presumption as to production of electronic records as per section 90 A of Evidence Act may be

drawn if the document is :
1) 10 years old”’ 2) 5 years old 3) 30 years old 4) 12 years old

............ TN RIS PRITR fIuRid IRUMA axuaT= &/dT 3RTSe! dluidier aRRR fdhar g

q) I R) AW 3) @BHERESIC! g) feRfSal i@ el
............ means any condition or event that has the potential to adversely affect organizational
performance

1) Threat 2) Safeguard

3) Vulnerability 4) Video Recognition System

IRPIS Redd T TRy HE Wiostes Yl DIV Th{(TT TSI dTRS ST ?

9) a3t IR Q) W I I} IR 3) AT MNBG UM 8) Beh () RIS
Which of the following scanning technologies are used in barcode readers and scanners?
1) OCR 2) MICR

3) Voice recognition system 4) Only (c) is correct

Sf. €. 3, (GEO) 3mfor fY. w7. 3. (GSO) SUIEAT AT aTiR Ho- fog HERIFR Td Afcgier
RO 3@ (ISRO) o Pl U™ FAR ol 3 ?

9) ifaes <y ) WH 3) foremusT ¥) PR

G.e. O, (Rage) and G. S. O. Which solution has been developed by ISRO (KHATHIJ) for navigation

in the Indian Ocean region using combination of (RJ) satellites?
1) Navik Chip 2) Gagan 3) Geospace 4) Kasar

TSIBID! PIurT AT e Hel, FraTd IRy Aacudid Rgs FUNU JRf Fxuard Il ?

q) wfdhe Rafim Jeah R) "I feafe Aead

3) e RARIT Yead ¥) Eio AR e

In which of the following switching networks, a continuous communication path is made from
start to end?

1) Circuit switching network 2) Message switching network
3) Packet Switching Network 4) Virtual Switching Network

ADC #efier 3ifcH scfid a/an......... 3 SN BfSTeat wrmefiel Riveraa SI-RY BhiHHed HUTaR deal.

9) TP R) aRHAT 3) &N ) T
The final block in ADC is a/an .......... that converts signals from digital form into binary form.
1) encoder 2) quantise 3) hold 4) sample

ST TR TRl SIUIR a¥iet fomg &R gefad ?

9) gfgder Q) 3MERaAlS glex 3) Rt @iga Q) AlFIss Pisct
What does the above symbol, which is used in ladder logic, indicate ?
1) Indicator lamp 2) Overload heater 3) Relay coil 4) Solenoid coil

e § 9 7T & GEUIERTTON SuYh FTRIIE : T A= / €9
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Wletteldeh! pIvredT PLC 3R TRUMG ST 2ffided, 3icrid e scarcieh dare [Hifae 3 ?
9) Y Th ) BRADIUT 3) YT b ¥) 3TSCIC Fh
Which of the following PLC operation step involves communication with programming terminals,

internal diagnostics etc ?
1) Input scan 2) Housekeeping 3) Programm scan 4) Output scan

Greflel faemran faeR e,

37) AfhT Foed Tl ol Ao HdgT dxdl.

q) FifSp aes GAURIT A=A Fofdl aTHR Fod Fded Il

%) Wfhd e feaaTeRIaR BNE! e .

$) Fifepy Heigep theh foawT dae Rl

R Do T/ AU SRR 311g/3Med ?

9) ek 3 Q) Wk 3F 3T § 3) 31, § MM & ¥) TR T
Consider the following statements.

a) An active sensor senses by using its own energy.

b) A passive sensor uses energy from the sun to sense.

¢) An active sensor sensing during the day time as at the night time.
d) A passive sensor only sensing during the day time.

Which of the statements given above is/are correct ?
1)Only a 2)Onlyaandb 3)a,bandc 4) All of the above

SeRHCaR G NUTIRATS! aTuRedT SITOT=IT U b FgUTdTe ?

q) 3REfed ScI e} Q) 3R IPiS Alhex

3) UHFHI Pls clheR 8) g RART alldex

What is the address used to locate a resource on the Internet called?

1) Discontinuous data locator 2) Discontinuous record locator
3) Uniform Record Locator 4) Uniform Resource Locator

e § 9 7T & QEURIERTTO! SuYwh FeTE : = st / &2
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ST : (3) SMVATH, WAL 10T RIS fag=

q) srfas=
9-3 -3 3-R 89 Y-%
?) TR
9-9 -9
3) 3R fAs , Shidivd, Shames

-3 R-R 3-9 8-3 Y_n &3 V-3 -9 R-9 90-9
99-9 QR-1 13-9 18-3 94-9 Q-2 9-% -9 R-9 20-19

) mfeht g W dEE /RS

-9 -9 3-R 8-9 4-x &1 v-9 ¢-9 R-3 90-R
99-% QR-9Y
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